
Lesson 6.2 Assignment  Name:_________________________________ 
 

1) 𝑥 =________ 

 
2) 𝑧 =________ 

 
3) 𝑤 =________ 

 
4) 𝐴𝐵 = 𝐶𝐷 

𝑃𝑂 = 8 cm 
𝑂𝑄 =________ 

 
5) 𝐴𝐵 is a diameter. 

𝑚∠𝐵 =________ 

𝑚𝐴𝐶෽ =________ 

 

6) 𝐺𝐼𝐴𝑁 is a kite. 
𝑤 =________ 
𝑥 =________ 
𝑦 =________ 

 
7) 𝐴𝐵 = 6 cm, 𝑂𝑃 = 4 cm, 𝐶𝐷 = 8 cm 

𝑂𝑄 = 3 cm, 𝐵𝐷 = 6 cm 
Perimeter of 𝑂𝑃𝐵𝐷𝑄 =________ 

 
8) 𝑚𝐴𝐶෽ = 130° 

𝑤 =________ 
𝑥 =________ 
𝑦 =________ 
𝑧 =________ 

 
9) 𝑥 =________ 

𝑦 =________ 
𝑧 =________ 

 



10) 𝐴𝐵||𝐶𝑂,𝑚 𝐶𝐼෽ = 66° 
𝑥 =________ 
𝑦 =________ 
𝑧 =________ 

 
11) What’s wrong with this picture? 

 
12) What’s wrong with this picture? 

 
13) 𝑥 =________ 

 
14) 𝑦 =________ 

 
 
 

15) 𝑧 =________ 

 
 


